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Topic:- General Knowledge

1) Who was conferred the title of 'Father of the Lok Sabha' by Jawaharlal Nehru? /
SATERATd g% GRT AP AHT & TS B SUTTY fHd yar 31 715 A

1. Ganesh Vasudev Mavalankar / TTOISI a@_d HIGdD

2. Mahatma Gandhi / HeTHT et

3. Hukum Singh / Wﬁl‘s’

4. Jawaharlal Nehru / Wﬁﬁ

Correct Answer :-

« Ganesh Vasudev Mavalankar / TOIR] aw%’a HIadDb

2) Who among the following Industrialists won the Bharat Ratna in 1992? /

1992 ¥ fF=rfarfaa & 9 few Ievufa 3 uRa 3@ siar
1. JR.D. Tata / I.3R 3.1l

2. Dirubhai Ambani / TS &

3. Rahul Bajaj / RTgc] &l

4, Azim Premji/ 3ol Ywsit

Correct Answer :-

o JR.D. Tata/9.3MR.Sl.eTeT

3) ‘Rose of God’ was a classic poem written by: /
T TP TS’ TP PP Bl A, 5 37 R foredt 73:
1. Rabindranath Tagore /X deTY &R



2. Kamala Suraiyya / HcT AT
3. Sri Aurobindo / 4t Gﬁﬂﬁa
4, Sarojini Naidu / GRIFSHT 7 qg

Correct Answer :-

« Sri Aurobindo / &t 3fRifsar

4) A six lane expressway is announced in the Madhya Pradesh budget for the year 2018-19 between
which of the following cities? /

Y 2018-19 & A U &P goic | FArAferiad A I fr gl & 9 98 a9 & Taiad 31
HIYor BTS2

1. Bhopal and Jaipur / Uiore Td SIUYR
2. Bhopal and Delhi / 10T U4 feaeit

3. Bhopal and Indore / UiuTe Ud E_Ca_{

4. Bhopal and Mumbai / T ud aﬁrs‘

Correct Answer :-

 Bhopal and Indore / HIUTe Ud 2R

5) Where is the Atal Bihari Vajpayee Indian Institute of Information Technology and Management
located in Madhya Pradesh? /

7 U A 3red fagrY areudt W gaaT Wenfies ud yeum S Fel R 872
1. Bhopal/‘l-h'qlﬁ
2. Indore/%ﬁ?

. Jabalpur / SI§TYI
4. Gwalior / TaTferIR

w

Correct Answer :-

o Gwalior / TaTfeIOR

6) Tawang Monastery, the largest monastery in India, is located in i
HRA H HIH IS H, q9IT HS AfR@zl

1. Arunachal Pradesh / {20l EI%-‘H



2. Sikkim / Fifawa

3. Ladakh / dgld
4. Manipur / HfOTQR

Correct Answer :-

¢ Arunachal Pradesh / 3{>UIH ] m

7) Which mineral reserves are largely found in Balaghat and Chhindwara districts? /

graTgTe 3R Rigaret ford & S 91 @ e HSR JATYs U A UTdT Sd1 82

1. Dolomite / SIAHZE
2. Coal / PIIAT
3. Manganese/'a:"l:ﬁ\_rf

. Bauxite / EIVTH;HTE'E

N

Correct Answer :-

e Manganese / o

8) Which Indian became the world’s second youngest Chess Grandmaster at just 12 years, 10
months and 13 days of age in June 2018. /

DI AT URAG, 5 2018 F 12 T, 10 7SN SR 13 f&1 F1 3y # fzg &1 goRT T BieT IR
I g1

1. R. Praggnanandhaa / 3/R. UG

2. Koneru Humpy / CARES gt

3. Viswanathan Anand / [d%=T4 g
4. Ramachandran Ramesh / STAAGA TH

Correct Answer :-

« R. Praggnanandhaa / 3R, Y&

9) The iconic ‘Malgudi Days’ was a novel written by: /
Ffaf¥d SU=aRT AT St 39" 3% gIRT forar A AT:
1. Vikram Seth / fdhH 93

2. RK. Lakshman / 3., Q&I



3. R.K. Narayan / 3R, ARG
4. Anita Desai / 3{fdT <48

Correct Answer :-

« RK. Narayan / 3R.&. TR0

10) The palace built in the form of Krishna’s crown in Jaipur with 953 outer-wall windows is: /

TAYR ® N & a1 & w0 § Al aga, o 953 aredt far ardlt fasfeat afta sarm
g e

1. Amer Fort / 3R fooar
2. Hawa Mahal / &dl Hed
3. City Palace/ 4 oo
4. Kumbhalgarh Fort / g foan

Correct Answer :-

e Hawa Mahal / edl Hed

11) Who among the following is a Governor of a state and is also a former Chief Minister? /
frafafed & @ o1 te 59 & Tsaure ok gd gereEt ot 82

1. Anandiben Patel / 3THala Ucd

2. Uma Bharti / ST 4Rt

. Digvijaya Singh / fafasr g

4. Kiran Bedi / o1 9}

w

Correct Answer :-

« Anandiben Patel / 3THc e Ued

12) The only Jama Masjid in India without Minars is found in which of the following states? /
YR H fom1 FRY arelt woam simarn afie Fefafea § 9 P o= | 32
1. Madhya Pradesh / HEIUCRT

2. Uttar Pradesh / 3T} m

3. Tamil Nadu / IrH@ g



4. Karnataka / p-IIch

Correct Answer :-

o Madhya Pradesh / TR

13) Which of the following National parks is not located in Madhya Pradesh? /
frafafea d @ o @1 Wiy ST A uew d fRa & 82

1. Madhav National Park / HT&d QT@H 3

2. Pench National Park / U ?TgTq 3

3. Satpura National Park / JdqST QT@H 3
4. Manas National Park / A ?Tgrq REIGH

Correct Answer :-

e Manas National Park / AT TI@’C[ 3

14) Indore Airport is named after ./
IEREAS T HIAM & AW W I@TATR?
1. Devi Ahilyabai Holkar / &l Gﬁ%wan's‘eﬁm

2. Chennamma / IaHAT

3. Chand Bibi / 3G el

4. Manikarnika / HTOTGH 0fehT

Correct Answer :-

o Devi Ahilyabai Holkar / &l H%WI’&CEPIW

15) Who is the Director of Mahatma Gandhi State Institute of Rural Development and Panchayati
Raj in Madhya Pradesh? /

AT YR H AT el ey AT faeT W o tardt e & e B 32
1. Ashwini Kumar Roy / 3t PHR 0T

2. Rajesh Rajoura / IO ISR

3. Sanjay Kumar Saraf / 4o/ AR ATH

4. Shiv Narayan Mishra / fR1a ARrur fsn



Correct Answer :-

« Sanjay Kumar Saraf / JoT HHR AH

16) Chanderi town is mentioned in Mahabharata .Who among the following was the King of
Chanderi during the Mahabharata period? /

HETHRA | dad) e &1 Ieurd b1 1T 8 | HETHRA $Td & SR FFrefifad § 9 o9 98
T TSI UT?

1. Ravana /TqUT

2. Kans /&9

3. Arjun/\}lﬁ\i:l

. Shishupal / TRIRATA

Correct Answer :-

e Shishupal / 3‘{‘3”@

N

Topic:- General Hindi

1) HYST - & 1T 9l yataard ara =gl Ft ufda &1 T
1. UT, 9, 3R

2. UC, 9, dR

3. ¢, 98, IR

4. O¢, I, TR

Correct Answer :-

« U2, 99, IR

2) 3R TR BT I - YeTar BT AT WarT g e A F ST A1
1. TSiia A AR HTE &1 T AT TERT B

2. TSI A TR HIE BT FST ST B

3. oG 1 TR HTS BT gERT 9T g |

4. oG A1 TR TS HT 3haIdT ST |

Correct Answer :-



« IToNd @ TR HTS P 3H Al el 2

3) IwiH- & forg wet wfd fawde <t gful
1. F+STor

2. AA+SH

3. SO

4, QA+

Correct Answer :-

o -+

4) GRIGRT - BT Y[& FU A A I HTATR?
1. GRIATRT

2. gawl

3. GRART

4. gare

Correct Answer :-

o GYIWYT

5) gafe - & fag udh wft fawde = g
1. ST+

2. gfd+afie

3. SAH3ffG

4. 3G

Correct Answer :-

. Sfd+enfe

6) SMRI W Ufq w1 - geTa¥ &1 o P el A AP A @
1. I aTe DIg BT BT

2. S YA BT




3. g gHg ol
4. g Adbe 3T

Correct Answer :-

« IHUM 1A BI5 BT BT

7) 31 - ST A T veg P A A P ATR?
1. 3TIRUT

2. 3

3. TERTT

4. 3{HIT]

Correct Answer :-

o SHTERUT

8) g% fAT erfaws A Ry g5, 1 A 31 - F 9 & A 319 1 SdpR 32
1. IUHT 3ADR

2. SffaRmNfaT SR

3. TYId 3APR

4, I fABR

Correct Answer :-

o SUHT 3ADR

9) fore Sum # IRY 3T SUFRA A}, aei et & -
1. ITHT

2. guigHr

3. QUITGHT

4. TTHA DI T8

Correct Answer :-

o quiTgHT




10) U F 9 & I B 91 99N &2
1. ey aamg

2. 19 AGEY TN

3. §g 9AN

4. 3{TYIHTT A

Correct Answer :-

o o[ dY=Y JHN

11) A HETE & Rl @ T FEdAsaaT R
1. 3FTAfH

2. feTy

3. Sdifdy

4. 3&fY

Correct Answer :-

. 3rafamy

12) GIARY | 9 & | S 91 HHN 32
1. HHYRY AN

2. TS THY

3. ATy I

4, 3{YTHTE THIY

Correct Answer :-

« SHYRYT JHAY

13) 3@ ITAT A T A U A A BT A2
1. 3{UTtd

2. YR

3. STOT-4TqT

4, 3UDPR



Correct Answer :-

o HUPR

14) ST Pg 1 91 B Higd |

& a9 71 fafea oife, wgfr AR wa Ru- A m A s W R
1. YA T

2. T

3. IR

4, YOH XY

Correct Answer :-

- ST T

Topic:- General English

1) Choose the most suitable determiner for the given sentence:

You can catch bus from this station to reach your destination, as all buses from here pass

through your hometown.
1. little

2. each

3. either

4. any

Correct Answer :-

e any

2) Choose appropriate articles for the given sentence:

Can you switchon ____ light, please? _ Sun has set and it’s dark inside __ room.
1. the, The, a

2. the, A, a

3. the, The, the

4. a, The, a



Correct Answer :-

o the, The, the

3) Spot the error in the given sentence:

Have everybody returned after playing football?
1. football?

2. Have everybody

3. after playing

4. returned

Correct Answer :-

» Have everybody

4) Choose the correct adverbial clause for the given sentence:

, he was making sandwiches.

1. Although we had arrive
2. In spite of arriving

3. When we arrived

4. As we arriving

Correct Answer :-

e When we arrived

5) Choose the appropriate prepositions for the given sentence:

_____ chasing a bird, the cat jumped  the window and landed ____ the soft grass outside.
1. While, through, on

2. On, from, in

3. During, at, on

4. At, along, in

Correct Answer :-

o While, through, on



6) Choose the appropriate verb to complete the given sentence:
Canyou ____ me the way to the bus stop, please?

1. show

2. showing

3. showed

4. shown

Correct Answer :-

e show

7) Choose appropriate conjunctions for the given sentence:

Dad would finish having his soup____ the rest of his family, _ he liked to have it hot.
1. whether, for

2. while, so

3. before, after

4. before, because

Correct Answer :-

o before, because

8) Choose the option that is appropriate to fill in the blanks in the given sentence:
Teachers have to generally  their students so that they  well in their studies.
1. motivating, performing

2. motivate, perform

3. motivation, performance

4. motivated, performed

Correct Answer :-

» motivate, perform

9) Choose the option that best transforms the sentence into its other voice:



This house is cleaned everyday by the cleaning woman.
1. Every day, this house is cleaned.

2. The house is being cleaned by the cleaning woman.

3. The cleaning woman is clean the house everyday.

4. The cleaning woman cleans this house every day.

Correct Answer :-

e The cleaning woman cleans this house every day.

10) Choose the option that best transforms the sentence into its other voice:
The candidate has written all the answers correctly.

1. Answers are written correctly by the candidate.

2. All the answers were being written correctly by the candidate.

3. All the answers have been written correctly by the candidate.

4. All the answers are being written correctly by the candidate.

Correct Answer :-

 All the answers have been written correctly by the candidate.

11) Choose the option that correctly spells the words to be filled in the given sentence:
The of the school said that the boy behaved like an .

1. principle, angle

2. principal, angel

3. principal, engle

4. principel, angle

Correct Answer :-

e principal, angel

12) Choose the correct form of tense for the given sentence:
In ancient times, hostages as security on a treaty.

1. were taken



2. had taken
3. was being taking
4. are taken

Correct Answer :-

o were taken

13) Choose the option that is closest in meaning to the highlighted word in the given sentence:

Naina gets very angry over trivial matters and is unable to control her temper.

1. immense
2. huge

3. crucial
4. small

Correct Answer :-

e small

14) Choose the option that best fills in the sentence:
Of the three brothers, Ram is
1. oldest
2. the eldest
3. the older
4. eldest
Correct Answer :-

o the eldest

Topic:- General Mathematics
1) In AABC and APQR,if AB=AC, 2C = £P and £B = £Q, then the respective two triangles are: /
AABCUdAPQR #. 3§ AB=AC.2C=/PAWsB=,Q &1 dd gl B gl

1. Isosceles and congruent / W@‘m‘g’ GRIRSEIRIESES
2. Isosceles but not congruent / ﬂ'ﬁ'@@'l’g’ Afp ﬂ?ﬁ"'lﬂ'q :igbf



3. Congruent but not isosceles / gafmaw dfe FIHI%‘@HE T8l
4. Neither isosceles nor congruent / T ol W’@Eﬂ@ RIEESERISE]

Correct Answer :-

« Isosceles but not congruent / W@_@I'I_g' Afp gafmay T8t

2) A letter is chosen at random from the letters of the word "TRANSISTOR'. The probability that
the letter chosen is a consonant is: /

T 'TRANSISTOR' & 31&RY A TH 3H&R YTefosddr ¥ Iaf4d fbar mar| Tafvd 3ieR ve e
T, 39! yIiedr g

3

1, 10

| w

4. 2
Correct Answer :-

7

o 10

3) If a solid cube of side 14 cm is cut into 8 cubes of equal volume, then the surface area of the new
cube is: /

Tfe 14 A} fFIR 916 TP 3T U 1 UM T a1dt 8 =1 | HTeT oI1dT €, 99 ¢ ° &1 ygi
?Hm%:

L 294 cm? | 294 ¥
5 302cm? [/ 302 ¥
3, 186 cm? / 186 =
4 252cm? [ 252 FHP
Correct Answer :-

294 em? / 294 ¥’

L
L]




4) What will be the unit’s digit in square of 58976? /
58976 & I H SHTS BT 3 T GIIN?

1. 4

2.2

3.3

4. 6

Correct Answer :-

e 6

5) The distance between the parallel linesy —8=0andy+1=0is __ ./
AR IS y -8=0Tdy + 1 =0 FdTHI N I

1. 8

2.7

3.1

4.9

Correct Answer :-

«9

6) A cone, a hemisphere and a cylinder stand on equal bases and have the same height. The

respective ratio of their volumes is: /

TP WP, U9 Tiellg Ud U o, THIAT YR R fRUd § T 370 SHu1g U A 81 37
STl BT 3UTd 8-

1.1:2:1
2.1:2:3
3.2:3:4
4.3:2:1
Correct Answer :-

e 1:2:3

7)



A factor of p(x) = 7x? — 44/2x— 6is: [
p(x) = 7x — 4/2x — 6 F T IPEIES &

X+ \."E
X+ \.’E

4x 4342

w

7x+ 342

>

Correct Answer :-

. 7x+ 342

8) AABC is inscribed in a circle with center O and if #/BAC = 2x and # BCO = 2y, then which of the
following relation is CORRECT?/

&e O arel U ded & AABC 3adea v oram 3 1 .BAC = 2x v «BCO = 2y ¢, @
AT § H el |5 Hae H@e §7

1. 2ty=45°

5 BRI

3 x+ty=90°

g, X-¥=9%0°

Correct Answer :-

x+y=45°

11 -13
9 On multiplving = with additive inverse of g TE get: [

= @ — & g UideN & I AOT ae W, g8 & U g &

20 14

132
1. 173

—216
, 525

143
3. 280

—190

4 153



Correct Answer :-

143
o 280

10) The complement angle of the supplement angle of 150%is . /
150° ATeY ERWS 0T & Weh 0T B

1, 700

5. 90°

3, 60°

4, 30°

Correct Answer :-

. 60°

11) ABCD and AEFG are two parallelograms. If 2C = 58°, then £F= ./
ABCD @1 AEFG &1 §FIGR Id9 81 G 2C=58°.dd «F=__ &l

Correct Answer :-

. 38°

12) If2a—3b =5, then the value of 8a® — 27b* — 90ab is .
AE 2a—3b=35 dd8a% — 27b° — ab FT AT __ B

1. 25

2. 100



3. 225

4. 125

Correct Answer :-

e 125

13) 20y 4nx gl-n=?

N
o0

k2
g

4, Y=L

Correct Answer :-

o]

14) Simplify: x2y? =+ 3/ (xy)? . where X and ¥ are positive real numbers. /
x2y? + ¥ (xy)? o T X, SGT X Ay elcHS aedids T&am ¢

. Je?

Topic:- General Logical Ability

1) Dipa is seven years older than Shikha. Fifteen years ago, Shika’s age was three quarters of Dipa’s
age. Find the present age of Dipa. /

Sur, Rrar A 91d 91 91 21 Usg 919 Ugd, RRar 1 39 Sut 1 39 Ft i1 hars A1 Sur
IAHT Y Ia13¢|



. 36 years/ 36 ¥

[

2. 42 years /42 g

. 43 years/43a'5f

w

.41 years/41?:|'5f

N

Correct Answer :-

e 43 years /43 ay

2) 60% of the populations of a town are males. If the total population of the town is 76000, then find
the population of females in the town. /

TS NG B AMATS) & 60% TV & 1 TfS XM Bt SATaTd} 76000 B, o e & Afgarsi #1
& CIC KGR

1. 30200
2. 30600
3. 30000
4. 30400

Correct Answer :-

* 30400

3) Find the length of a bridge, which a train 120 meter long and travelling at 54 km/hr can cross in
20 seconds. /

I Jd Dt TS F1d B o 120 Hex TP IS, 54 fpeli/dier 3t ara 9 9ad gr20 Abs |
IR $R A1 3

1. 170 m/ 170 HIcR
2. 190 m/ 190 HIcR
3. 180 m/ 180 Hlc?

4, 160m/ 160 e’

Correct Answer :-

« 180 m/ 180 Hicx

4) By selling a horse for Rs. 670, a tradesman would lose 5%. At what price must he sell it to gain
5%?/



670 ¥UT H U OIS B! TP ATUR} B 5 ufard @t g1 aiftl s ufoRd dT Ty ura #37 &
fore 3 OIS 9 fpaq e RS9 8 m?

1. Rs. 737.40/737.40 ¥UU
2. Rs. 740.52/740.52 %4U
3. Rs. 738.52/738.52%4YUd

4. Rs. 736.40 / 736.40 ¥UU

Correct Answer :-

» Rs. 740.52 / 740.52 24U

5) In how many different ways can the letters of the word ‘GAMBLE’ be arranged? /
fpam Rt 981 A 215 ‘GAMBLE’ ¥ 3i&RY &t syafRud far o awar 82

1. 720

2. 710

3. 730

4. 740

Correct Answer :-

e 720

6) Study the following information carefully and answer the question given below.

Eight persons L, M, N, P, Q, R, S, and T are sitting around a circular table facing the centre. Q is not
the neighbour of P or R. M is second to the left of T and third to the right of P. R is third to the left of
N, who is to the immediate left of T. L is second to the right of P.

Which of the following is definitely true? /
2 & 1 e B earFydS U MR Y T URA BT S@R & |

316 TSH; L, M, N, P, Q, R, S, 3R T TP JETHR AWl & IR 3R TH gaR Pt 3R Yg PP 86
TUEIQ,PUTRPBTUSRII TSI 81 M, T & 91T 3R ORI § 3NR P & g1¢ 3R TRRTBI R, N & aO1¢
IRAMRTE, T fH TFH StF T E1 L, P& ST IRT B

et & 9 o4 aafae 93 82
1. Q is to the immediate right of S. / Q, S & 3b alg GhT%I
2. M is between N and Q./M,N\ﬁ?Q%Eﬂaﬁ%I

3. R s to the immediate right of P. /R, P %6%3111 @?%I



4. RisbetweenP andS./R, P ﬁ?S%@Hﬁ%I

Correct Answer :-

o R s to the immediate right of P. /R, P 373%5?3'({ W%l

7) What must be added to each term of the ratio 5:11, so as to make it equal to 3:4? /
SUTd 5:11 & TP UG H fha=11 STIST 9T AR, A1 9 3:4 & SRIER I1971 o g2
1. 12

2. 13

3. 10

4. 11

Correct Answer :-

e 13

8) A dice is thrown. What is the probability of getting a number greater than 2? /

TP Ui & bobT a1 81 2 A e 1 U 34 &1 urlipar 1 82

-
1

N
Lad | =

L | k2

[N Y]

4.

Correct Answer :-

| ka

9) Rs. 1500 is invested in two parts such that if one part is invested at 6% and the other at 5%, the
total interest in one year from both investments is Rs. 85. How much is invested at 5%? /

1500 ¥UY ) 3 il # 59 U frawr forar wirdr & 16 we e, 6% wR e foear s @ ok
TTBT BT 5% R =1 foran Sman 8, a1 a2 & @ ad § $d 85 $UT &1 a1 U grar 8 1 5%
W far mar o e @2



[

. Rs.450/450%4U

2. Rs. 550/550%Uq

w

. Rs.500/500%4U

N

. Rs. 400/4002>U¢

Correct Answer :-

 Rs. 500 /500 2>UUY

10) In a certain code, BEAN is written as ABNE and SALE is written as LSEA. How is NEWS
written in that code? /

TS A3 B & BEAN 3 ABNE 3R SALE P LSEA & ¥ U H for@r a1 81 39 s # NEWS
P Y foram sem?

1. SNWE
2. WNSE
3. WSEN

4. SNEW

Correct Answer :-

 WNSE

11) In a certain code, DIARY is written as @5*%4 and LOOK is written as $##3. How is LOAD
written in that code? /

T Af3d F1e H DIARY B @5%%4 3R LOOK &1 $#43 $ FUH fRaT sar g1 sH pls o
LOAD &1 {9 yoR forar smem?

1. $%@*
2. S$HU%*
3. $#*@
4. $#@%

Correct Answer :-

. $SH*@

12) If 2 men or, 6 women or, 4 boys can finish a work in 88 days, then how many days will 1 man, 1
woman and 1 boy together take to finish the same work? /



Tfe 2 g3 T, 6 ARATT T, 4 TSP TP BT DI 88 &1l i TH T IPd §, al Sl HTH Bl TH
P & I 1 73w, 1 AiRar iR 1 a5 Fi fpa e e

1. 97
2. 96
3. 95

4. 94

Correct Answer :-

e 96

13) Find the average daily expenditure of a man in 2017, who spent Rs. 76310 in the first-half year
and Rs. 87940 in the last? /

2017 A TP AT & 3Nd Sf e o0 H1 a1 eTe, forRa ugell SHTE & 76310 TUY 3R nfEdt
TS A 87940 TUA T fhU?

1. Rs. 453 /4532UU
2. Rs. 452 /452°U4Q
3. Rs.450/450%UUq

. Rs.451/451 24U

N

Correct Answer :-

e Rs. 450/450%4U

14) Look at the five numbers given below:

851, 743, 624, 319, 298

If the positions of the first and the third digits in each of the above numbers are interchanged, then
which of the following will be the third highest number? /

851,743, 624, 319, 298
Tfe SR <t 7 GEmrait B ugel 3R O = w1 vy § ged faar A €, @) #i "=
T T I=aH B3 B

1. 624
2. 298
3. 319

4, 743



Correct Answer :-

e 624

Topic:- General Science

1) Who discovered the presence of electron in an atom? /
TSP WRHIY] | 3aaeiH &1 SURITA @t Wil fras a2
1. Chadwick / ISfd®

2. Niels Bohr / =Ieq aR

3. Rutherford / IGXBIS

4. 1.J. Thomson / ST.51. YTAGH

Correct Answer :-

e J.J. Thomson / S, U

2) Identify the plant tissue that is not a type of meristem./

I UIEU S &1 Ugard BIE &) fh te g &1 fRAusdiae (@) 78 21
1. Lateral / 1% (ﬁaﬁ)

2. Intercalary / aHHfay Wﬂ)

. Apical / MefRE (aﬁav_(’l)

. Xylem / VlIgcTH

w

N

Correct Answer :-

o Xylem / SIIAH

3) is used as a fuel in nuclear reactors. /
1 AT At Rudged # 4= & & # far s g1
1. Co-60
2. P-32
3. I-131

4. U-235



Correct Answer :-

o U-235

4) Which one of the following suggestions is effective in controlling air pollution? /

Frefafaa gamal & @ o149 a1 arg uguor &1 frifia s & gurd @2

1.

2.

3.

4.

Driving diesel vehicles / SnI\Jm dig dcflh

Using fossil fuel as a source of energy / %yl FAd D qur\‘:ﬁam‘s‘a:rao‘r SUTRT
Using alternate sources of energy / %W@?ﬁﬁ JUTRT HIAT
Having industries far away from human dwellings CIUICARIBC] WQWQW

Correct Answer :-

 Having industries far away from human dwellings / I 1 A WQWQW

5) Which one of the following is a homogeneous mixture? /
fFrafafea & @ o149 91 v derdta fagor g2

1. Saline water / WRT o]

N

w

N

. Butter / HRIT
. Distilled water / 3T d Sic]
. Blood / Xad

Correct Answer :-

e Saline water / WRT W]

6) The method used to separate petrol from crude oil is: /

Tl a9 A USd B T B & forg IuahT &t 1+ arat faft 2:
. Simple distillation / HTYRUT 3THIT

[y

2. Fractional distillation / 3T 3T a—

3. Steam distillation / HIU 3T d-

4, Chromatography / DHIHCIUTHT

Correct Answer :-

« Fractional distillation / 3R 3TAaH



7) The velocity of an object at any given instant of time is called .

3 T 997 & et off 5707 o uF Feq Fr A FgATAT gl

1. Instantaneous velocity / ATeeTfoTsR a7
2. Variable velocity / TR&dT a7

3. Average velocity / 3 Hd a7

4. Uniform velocity / THEHT aRT

Correct Answer :-

« Instantaneous velocity / aTeeroraF a7

8) What would be the momentum of the bullet and the gun before firing? /

AT FATH & TEA AT 37T S HT HAT AT T2

1. The momentum of the bullet and the gun before firing would be zero / T FATT & Tl TAT T F5H
T HaT ¢ B

2. The momentum of the bullet would be more than that of the gun / ST T FAT, A I TAAT H ATeIH
g l

3. The momentum of the gun would be more than that of the bullet / Sga T HaT, ITAT T TAAT H TTAF
g l

4. Both would have certain velocity and so have the same momentum / AT H g AT T 3T THIIT
THTT Ha T AT

Correct Answer :-

o The momentum of the bullet and the gun before firing would be zero / T FATT | Tger TTAT ¥ qgH
T AT T T

9) The structure observed by Robert Hooke under the microscope was: /
GeaeRit & sianfa Wad g g1 Mara &Y v T ot

1. Onion peel / TS T IENEQ

2. Aslice of cork / ?b—%?ﬂww

. A flower / Udh Tl
. Aseed/QEFEﬁ\_rf

w

N

Correct Answer :-



o Aslice ofcork/ﬁﬁww

10) The frequency of wave with time period 0.05 s is:/
Y 3af¥ 0.05 Yhs AR a1 ot gy ghf:

1. 20 Hz

2. 500 Hz

3. 2Hz

4. 50 Hz

Correct Answer :-

e 20 Hz

11) How will the force between two masses m1 and m2 placed at a distance *d’ change, when the
masses are doubled and the distance between them is halved?/
‘4" T @ A AT m1 R ma F fiT a9 F ofaffa grm, a9 39% Fo39 SR A

1. Force becomes 16 times the initial force / &< ST &7 FT 16 AT BT JATAT 2 |
2. Force will be halved / a7 sreT g SITUIm|

3. Force will be doubled / /=1 FAT g SITUIM

4. Force will not be changed / &= Tfad+ Tl 2RI

Correct Answer :-

« Force becomes 16 times the initial force / & YT Ts® a1 T 16 AT B AT 2 |

12) As per Whittaker’s classification, which of the following is not a Kingdom name? /
P & Tife F R, FufafEa & § 19 a1 SFrd &1 7w 78 82

1. Bacteria / 9t

2. Fungi / d®

3. Plantae / Wicl

4. Animalia / TR

Correct Answer :-

« Bacteria / Sacifar



13) Which of the following is not an acute disease? /
Frafafea & & o1 9 v ik fard 78 82

1. Cancer | 3R

2. Elephantiasis | Biaura

3. Diabetes /ﬂ‘r‘;,l'ﬁ's'

4. Common cold and fever / Wﬂ?ﬁéﬁ?@ﬂ

Correct Answer :-

« Common cold and feveer?l’cff&ﬁTW

14) A girl is carrving a school bag of 4 kg mass on her back and climbs up a hill ofheight 300 m in

20 minutes. The work done against gravity is (g=10m/s?)- /

Ud o5l o O 9e W 4 fFAH SeaAe S The &9 3o 3@ & 3R 20 e
# 500 #Hex F=S T UES! W ASdl ¢ EArHNeT & fawg AT T SR g
(g=10m/s?):

2% 10° )
2X10% )
2X10% )

2X10%)

Correct Answer :-

o 2X10%)

Topic:- General Computer

1) In MS word 2010, shortcut key to undo performance is: /

THTN TS 2010 T, 3 WHIHT H1 & [T AHe I 3:

1.

2.

Ctrl+A

Ctrl+Y

. Crl+U

Ctrl+Z



Correct Answer :-

o Ctrl+Z

2) ROM stands for __ /

A @R HTEUIET Bl

1. Read Only Memory / S S AHRT
2. Read Only Message / $s el AW
3. Read Of Memory / S 3 AART

4. Ride Only Memory /XSS 3T AR

Correct Answer :-

e Read Only Memory / S Sifelt AERT

3) Where does the formula bar present in the MS Word 2010?/
THTH T8 2010 § GTHAT IR H51 HI[G g1a1 82

1. Inreview tab / ﬁaﬁa

2. There is no formula bar in MS Word / THUYH atff i ﬁé leﬁfl'[ dR :I_sgff?l?ﬂ %I
3. In insert tab / 37\‘:|_(‘.c %a H

4. In home tab / Eﬁ’q %_Q'ﬁ

Correct Answer :-

e There is no formula bar in MS Word/@@ﬁéﬁﬁgqﬁ%aﬁﬁaﬁ%l

4) Where does the file name appear on the MS Word window? /

THTH T8 fIST W Wigd &1 T Fei s e 8
1. Title bar / CIgcd &R

2. Ribbon / Ra

3. Status bar / % ¢H R

4. Home bar/@'ﬁlaﬂ

Correct Answer :-

« Title bar / CIgCd dR



5) From the given chemical formula, H20 what does 2 appear to be in MS Word 20077/
TATH IS 2007 A, T 710 T A H20 & 2 &1 b TR Taiad fohar seam?

1. Belowscript/w
. Superscript/ﬁtﬂwlzr
3. Bottomscript / SicH%pI@
. Subscript/?i_cﬂﬁg"ﬂzr

N

N

Correct Answer :-

e Subscript / JIh @

6) Which among the following can store a large amount of data? /

fruafefad A @ 914, ST 3 IS 461 B TR B ghdT 82
1. CD /8t
2. Hard disk / BTS f&%p

3. RAM /YH
. Floppy disk / TId f&xh

N

Correct Answer :-

« Hard disk / TS f&&p

7) Which among the following is NOT ‘Page Border’ Setting in MS Word 2010? /
THH g3 2010 H, FafifEa @ 19 w1 i sy At g 32
1. Box /SIdq

2. 3D /38

3. Peculiar / W

4. Shadow / IS

Correct Answer :-

 Peculiar / ﬁaqj%m

8) In MS Excel 2010, sparkline can be accessed from: /



THEY TRIE 2010 H, TTHATSH HT SUTNT 98T | foar ot I&ar 8:
. Insert tab / SIC &

. Design tab / fSoiIs ¢&

3. Formula tab / TTHa ¢§

. Review tab /&g eq

[y

N

N

Correct Answer :-

o Insert tab / Eﬂé’ %_Q'

9) In MS Excel 2007, where can you find the charts group?/
THTH T 2007 H, 39 °AT¢ YU HET U1 JHd 82

1. Home tab / @ﬂ%ﬂ

2. Page Layout tab / T AATIC oF

3. Insert tab / ST\‘Té e

4, Formulas tab / q'fllji(_"ﬂ G|

Correct Answer :-

e Insert tab / 37\‘4% GG

10) In MS Excel 2010, the shortcut key to apply or remove bold formatting is: /
THTH T 2010 H, 91t BIHTET Pt AR B34 a1 FHidp1em & e 2idewe 91 8:
1. Ctrl+4

2. Ctrl+3

3. Ctrl+2

4. Cul+5

Correct Answer :-

o Ctrl+2

11) In MS Excel 2007, to remove the outlining from your worksheet, choose the option
from the submenu under the ungroup button. /

THTH TR 2007 H, 301 gh=fic A sm3cars = & geM & forg, 3 U 9e4 & ded gau1 9
_ foww A



1. Clear / IR
. Clear Outline / FARIR 3M3cAST

N

w

. Outline / 313 CcATg
. Bottom Outline / STcH T3cATST

i

Correct Answer :-

o Clear Outline / TR T3CATS

12) In MS Excel 2007, to trace errors and show the cells that are referenced in a formula, we use
buttons. /

THTY TR 2007 H, et &1 a1 = iR widar | defia ol «f fawm & forg, g0
e BT SUAT FHd 3|

1. trace formula / ag qfll'lj'\LQ‘lT
2. trace/ aq
. formula auditing / TIHaT SHSfET

4, formula / q;\lﬁi?ﬂ

Correct Answer :-

« formula auditing / qv—lu%'[ SIS

w

13) In MS Word 2010, sheet has its length and breadth as 5.83 x 8.27 cm. /
THEE GS 2010 ", =fic B dard T ASTE 5.83 x 8.27 AW I 1

1. A6

2. AS

3. A4

4. A3

Correct Answer :-

e AS

14) In MS Excel 2007, you can design a worksheet in such a way that data is formatted differently,
based on the values the data assume at any given time. This is called as .



THUH THRE 2007 §, 3T Uk ghiic Bl 59 a8 ¥ fSug— &% Iod & f& fadt o w
HIUd ST HMI & SATYR TR ST 3IeNT-3(eNT W ud fhar mar gt 59 HEIAEI |

1. Unconditional Formatting / 3B SR WIHTCT
2. Conditional Formatting / H I BIHfeT

3. Formatting / BT

4. Data Formatting / ST BT

Correct Answer :-

« Conditional Formatting / & S WA

Topic:- Information Technology

1) The solution of name collision problemis ./

AT THIG THIT (A Hleie UTsdH) STHHIYTE 8|
1. Tree structure / 9& AT

2. All of the above / IWRIad g+t

3. Single level / Thef AR
4. Two level directory / ?(Pf TR BT Elé b

Correct Answer :-

o Two level directory / TR B R

2) Which of the following algorithm uses a shared secret key for 2 Communicating parties? /
fFafafad & 3 o1 9t s 3, 2 J9R el & g oo R Hihe $oft &1 SuaRT Sl §2
1. RSA / 3RUTHT

2. AES /USQH

3. Diffie-Hellman / %‘qﬁ—%ﬂﬁ:{

4. DES / SI30d

Correct Answer :-

« Diffie-Hellman / %q%)f-%ﬂ'a:f

3)



An IP datagram arriving at the reassembly/destination contains one of the fragments with details
such as: Bytes = 1480; ID = 222; offset = 265 and flag = 0. Where should the data be inserted in the
Final/Resultant IP datagram? /

TS STSUT ST, TIFCH = 1480; SMFST = 222; SATHHT = 265 3R Tl = 0 fAaR01 & A1y TP
Py Aied et/ S W ugad g1 sifaw / aRumassy st Serma & e wei
STT ST A1 e?

1. Beginning at the byte 487 / 487 Gl PIESSIG] o

2. Beginning at the byte 222 / 222 ST3¢y &1 AT T

3. Beginning at the byte 2120 /2120 maﬁw&nﬁﬁ

4. Beginning at the byte 1700 / 1700 STS¢H & Lx=3HTd H

Correct Answer :-

» Beginning at the byte 2120 /2120 waﬁ R =3 H

4) Boundary Value Analysis is part of .
Har ge faweryor Ca Rt i

1. Structural testing / TRAATHD ofeT

2. Software analysis / e aaR fazewor

3. Functional Testing / PATHD T

4. Design analysis / ISEIERAEESLILI

Correct Answer :-

 Functional Testing / HATHD R

5) A user right that is assigned to a user and specifying allowable actions on the system such as

shutting down a system is called a ./
TP IUARTH b1 S START B BT RUPR HIYT S1dT 8, 3R RIeH B ¢ [ B3 o
e fparei &1 fAfdy frar s g, FgaEr el

1. User Permission / golk TRIHRM (SUANTEHAT SFAN)
2. User Account / JoR 3(I3C (YA GTdT)

3. User Policy / goIR UITer! (SUANTaR! ~iifd)
4. User Privilege / goR fifaaiel (SudNTaal faRwifiieR)

Correct Answer :-



« User Privilege / goR fUfdeisT (SUANTEHA! [ARINIISR)

6) Animation between the objects or frames is called ./
CrsEik R ke R E e s o SR g A LG

1. Skewing / ¥HTZI

2. Twisting / W‘T

3. Rotating / Jefem

. Tweening / Eﬂﬁ‘l
Correct Answer :-

o Tweening / ?ﬂ;ﬁ"’[

i

7) is the code also referred to chip or spreading sequence, which is noise like but
deterministic and used for bandwidth spreading of the signal. /

®Is 3! g a1 yaR srgery | Y wefifa far wimar 8, st ok # ave
gar g, afe FuRunare giar 8 ok e & defagy vaR & fore suai fsar sirar 31

1. Walsh code / A1eR] HIS

2. Orthogonal code / AT B
3. Pseudo random / W‘E}m

4. Gold code / @ B

Correct Answer :-

 Pseudo random / Pﬁﬁm

8) Problem Statement Language is designed for specifying: /

AlerH I¢THE WY fAfde v & R oA St 15 31
1. Requirements of information systems / T Tl &1 SHTaRIH g
2. Requirements of design systems / oo e &1 G{ITSIWT\@

3. Problems of information systems / =T PIUIRIEARSERS 1Y

4. Problems of software systems / TrgeaTR Red o) 1\-'I'JZI@TQT

Correct Answer :-

» Requirements of information systems / ¥ YOSl i ST BT



9) 8085 assembly Instruction for Load accumulator indirect, Load H and L registers direct and

Load register pair immediate. /

S TS T, A H 3R L IRER STaRTE 3R dls IR gt g =1 & fre soss
3rRAvelt fd:

1. LDA, LHLD and LXD / LDA, LHLD 3R LxD

2. LDA, LHLD and LXI / LDA, LHLD 3R LI

3. LDAX, LLHD and LXID / LDAX, LLHD GﬁT LXID
4. LDAX, LHLD and LXI / LDAX, LHLD 3R x|

Correct Answer :-

e LDAX, LHLD and LXI / LDAX, LHLD 3R x|

10) In Vi editor which command copies text from the General-Purpose buffer to the Work buffer? /
Fras vSler # ®1F W FHIS, IHFI-UUS T6T § b 6 dP SR HTU1 BT 8?2

1. G/w

2. p/P

3. Clc

4. Clt

Correct Answer :-

o p/P

11) A full binary tree is a rooted tree in which every internal node has exactly two children. How
many internal nodes are there in a full binary tree with 500 leaves? /

o quf ST3Y 941, U oI SmuTid gar { s vl siafve e A ) freea 13 &1 500 ufRray
& 1Y U ol a131et g&r o fora sriafve Agw 82

1. 250
2. 501
3. 499

4. 500

Correct Answer :-



* 499

12) In IPSec architecture, provides data confidentiality, data integrity, data-source
authentication of IP packets and protection against replay attacks by encapsulating the data with a

header and trailer. /

gt Ryaaifedt snfdeaar A, TS Yde o1 MU, SeT sRasdT, Ser-did
YHTORERUT UETE ST & 3R 3T TaH 3o & U1 3T &1 Hyfed o3, TRIgR g9a] &
fEaT® JR& v FRaT g

1. Encapsulating Security Payload (ESP) /

TG RACT JRET TS (STah)

2. Authentication Header (AH) /
3Ifeh A B (TTR)

3. Internet Key Exchange (IKE) /

ST DI TRIT (35S
4. Internet Security Association and Key Management Protocol (ISAKMP) /
Feve RyaRie! THIRITRM U8 @ HRric Hidieid (SrEuauesu)
Correct Answer :-

 Encapsulating Security Payload (ESP) /

STob MR &M et (STa)

13) Heuristic function is a function ./

TRR® wer @RS bm) T eaag s

1. that takes parameters of type string and return an integer /
<13y g7 & TRieR el 8 31R T quifes aleran gl

2. that maps from problem state descriptions to measures of desirability /
AT ST [JaRvll ¥ Fifesdar & Iurdl de AH= g

3. that solves mathematical problems /
T wrEel @ gd Brar g |

4, with no return value /

fo e g & Wy B



Correct Answer :-

« that maps from problem state descriptions to measures of desirability /

T a1 faavun ¥ gifedar & Surl de ARk gl

14) In entity framework, the process where a query for one type of entity also loads related entities,
so that a separate query need not be executed for related entities is called ./

ufedt g §, a8 ufshar oigi T YR &1 ufedt & fore ue &8 Taftra ufed ot off aite St
%,m%ﬁdﬁaﬁﬁﬁ%m?mﬁﬁﬁmﬁawﬁaﬁamqﬁm
CTRUIGIA

. Early loading / it AT

. Eager loading / g”'l??ﬁ%’q

. Lazy loading / aﬁﬁw

. Explicit loading/QHR‘Tﬁﬁl?Fﬁ'%"T

Correct Answer :-

 Eager loading / _EETIT AT

[

N

w

D

15) When you do nested browsing, the area where the embedded content is displayed is called the
./

?mmmm%awmwmmmm%w_wm
|

1. embedded frame / Qﬁ@f&' e
. display frame / oot
external frame / QEREE:YFT e
. floating frame / AT I

N

w

N

Correct Answer :-

« floating frame / AT ThH

16) What is steganography? /
RUNITS! FT 32

1. Itis an algorithm which takes an input and produces a message digest. /

g U H A1 § off T S1YC Adl & 3R Udh ol T YR-TUE BT Sl dal gl



2. Itis a process of embedding data into digital information for copyright protection. /
g qaTfIBR YRET & o fEfofed STHaR! & ST id: Rfud a3 &t uishan g |
3. Itis an encryption technique used on media files to hide data within data. /

g ST & 3fex S fum & forw ifsan wigal R SUahT & S aTel! U FHeaa- a1 ¢ |

4. It is a technique used to bind a person or entity to a digital data. /

g T dob-1op § il fpll safa a1 Tyt o) fefred Ser A §iem & o Suant & S 2 |

Correct Answer :-

« It is an encryption technique used on media files to hide data within data. /

g 31 & 3feR 3 fsum & forg HifSan wrgal iR IudhT &t ST aTelt Uh HeaRa- adb-1d & |

17) What is the incremental software process model that emphasizes extremely short development

cycle? /

gisxita Aivedar ufthar uisa w1 8 &t Jrcafie @y faer 9 W 9a dar g2
. Circular / 9% eR

. Prototyping / UTCICTSIUT

. Spiral / TTSXA

4. RAD / 3{RTS!

Correct Answer :-

« RAD / 3RUSI

-

N

w

18) Select the correct namespace used to monitor the system performance. /
Rireew yezia 9 fRit & forg SuaiT i 14 w8t At o1 aga |
1. System.Diagnostics.PerformanceCounter

2. System.Diagnostics.PerformanceCounterManager

3. System.Diagnostics.PerformanceCounterCategory

4. System.Diagnostics.CounterCreationData

Correct Answer :-

» System.Diagnostics.PerformanceCounter

19) In C language, which of the following is NOT a loop statement? /



¢ yTuT #, fFraferfead d @ &9 91 U Uikl $YF (U el ) [8 82
1. for ( init; condition; increment )
{
statement(s);
}
2. do {
statement(s);
}+ while( condition );
3. while(condition)

{

statement(s);
}
4. if(boolean_expression) {
statement(s);
H
else {

statement(s);

}
Correct Answer :-
« if(boolean_expression) {
statement(s);
H
else {

statement(s);

}

20) In C programming language, which of the following is TRUE about a void pointer? /

c URnfAT YT A, A A § S g1 aiss Ulscy P IR A A 82



1. A void pointer can hold address of any type and can be type-casted to any type. /
TP dise Ulec fdt i UhR &1 Udl e JobdT g 3R forddt off UpR & U ergu-sre fasar o
ghargl

2. A void pointer is another name for a NULL pointer. /

TS 19 UigeR & fo) U diss Ulsex 3R A9 &
3. A void pointer is a dangling pointer. /
138 iR T R YIF g

4. You can perform pointer arithmetic using void pointers just as you can on a numeric value. /
3T 1SS UlseR BT IUINT B Ulgex SPHIUT I8 g1 PR Thd § oY b MY FBIAHD HH TR
IR D 5

Correct Answer :-

A void pointer can hold address of any type and can be type-casted to any type. /
TS d13s UigeR fodft off IR o1 Ul Wa Gohdn 7 SR fhalt ot uepR & fore ergu-sre fasar o
BERI]

21) Analyze the code and write the output of the following code: /
PIs o1 fazawor &3 3R Y Fis 31 3rseye ford:

#include<iostream>
using namespace std;
class Abc
{int i;
public: Abc()
{ i=0;
cout <<" constructor "; }
~Abc()
{ cout <<" destructor "; }
¥
void f()
{
Abc obj2;
static Abc obj;
}
int main()
{
int x=0;
if(x==0)
{
f();



cout <<"\nEND";
}

1. Constructor destructor constructor destructor END
2. Constructor constructor END destructor destructor
3. Constructor constructor destructor destructor END

4. Constructor constructor destructor END destructor

Correct Answer :-

¢ Constructor constructor destructor END destructor

22) Analyze the code and write the output of following program: /
Pis o1 faxawor &3 3R 9 Bis F7 3rseye fors:

#include<iostream>
using namespace std;
class extra

{
public:
extra()
{ cout<<"extra class'"<<endl; }
35
class base
{
extra e;
public:
base()
{ cout<<"base class"<<endl; }
35
class derived : virtual public base
{
public:
derived()
{ cout<<"derived class"<<endl; }
15
class derived_derived : public derived
{
public:

derived_derived()
{ cout<<"derived_derived class"<<endl; }

35



main()
{ derived_derived d; }

1. Extra class
Base class
Derived class

Derived_derived class

2. Extra class
Derived class
Derived_derived class
Base class

3. Base class
Derived class
Extra class

Derived_derived class

4. Base class
Extra class
Derived class

Derived_derived class

Correct Answer :-

o Extra class
Base class
Derived class
Derived_derived class

23) Analyze the code below and find the output: /

W= fd T Fie &1 fazawor Fifsre ok enseye Awife:

#include<iostream>
using namespace std;
class a
{
int x;
public:
a(int xa=0)
{
X=Xxa;
}
void display()
{

cout<<”’x="<<x;

}



|5
class b:public a
{
inty;
public:
b(int yb,int xa):a(yb)
{
y=xa;
}
void display()
{
cout<<’y="<<y;
}
¥3
main()
{
b b1(20,30);
bl.display();
bl.a::display();

1. y=20 x=0

N

. y=20 x=30

3. y=30x=0

i

. y=30x=20

Correct Answer :-

o y=30x=20

24) Formula to calculate the pipelined CPI is: /

UTSUTSS CPI1 $1 UM A & ¢ wider 2:

CPlpipalined = Ideal CPI + Pipeline stall clock cveles per instruction
CPlyipelined = Average instruction time pipelined + Pipeline stall clock cvcles per instruction
CPlpipelinad = CPlunpipslined T Pipeline stall clock cycles per instruction

CPlypipalined = Pipeline Depth + Pipeline stall clock cvcles per instruction

Correct Answer :-



CPlyipelinad = Ideal CPI + Pipeline stall clock cvcles per instruction

25) Disk requests come to a disk driver for cylinders 10, 22, 20, 2, 40, 6 and 38, in that order at a
time when the disk drive is reading from cylinder 20. The seek time is 6 ms per cylinder. Find the
total seek time, if the disk arm scheduling algorithm is first-come-first-served. /

&% 3RIY 10,22,20,2,40,6 3R 38 s & W ter {55 gI5a% & U oMTd &, 59 FH
o 39 99T f5 3139 20 fReis? A ug ve1 81 ufa sy @w wwa (e e5w) 6 THed g1
afe fowe o Asgfer vanfien, uga snsi-usd wreh B, df oo Wiw 99g (W< er5H) 79
P

1. 876 ms / 876 UHUY
2. 850 ms / 850 THUIY
3. 360 ms / 360 THUYH
4. 900 ms / 900 THUTYH

Correct Answer :-

e 876 ms /876 UHUY

26) Which of the following controls is used to duplicate the active layer in photoshop? /

Wy # |fpa Wd &) geitde B3 & e Frafif@a # e sdia o1 Swah far sirar 82
1. Ctrl+R

2. Ctrl+T

3. Ctrl+]

4. Cul+D

Correct Answer :-

o Ctrl+]

27) Which of the following methods destroys the session and all the objects stored in a Session object,

releasing their resources? /
Frufafad faftrl & @ o @ I 3k A3 sifssiae # dufed Wi sifesiee o) 9oma 3,
ISP T D! Yad B T 82

1. Session.Clear()

2. Session.Abandon()



3. Session.End()

4. Session.Destroy()

Correct Answer :-

» Session.Abandon()

28) Which of the following statements is INCORRECT regarding Java Exceptions? /

SITaT 3yarel & 9 § fAufeafad & @ #1991 Y9 Tad 82

1.

An exception is an irrecoverable condition and cannot be handled using try-catch blocks. /

T 3UdIG U HURGd-1T R § 3R CR-ohd sallds BT ITANT HRab THTET Tal off Jabell g |

The exception class is a subclass of the Throwable class. /

3Udre a¥, dad 97 BT IU-aT g |

Exceptions are divided into checked and unchecked exceptions. /

3YaTal Bl oiie §U 3R ARSI g 3yaral # v frar mar 1

Exceptions are mainly caused by the application. /

3UATE T U § SHIYINT & HRU I T |

Correct Answer :-

e An exception is an irrecoverable condition and cannot be handled using try-catch blocks. /

TS 3{UAIE Uh 3URad-ig fRUT B 3R <93 sl BT SUTNT b FHTAT 78] off Jebel g |

29) Which of the following statements explains forwarding in DNS? /

frafafad A @ 919 91 $UF, ST # BRAST B RS ST &2

1.

It is a feature in DNS server that is used to forward DNS queries for external DNS names to DNS servers
outside of that network. /

g ST TR # U ARAwdT & et IuaiT a1e<) ey Tt & forw Sieaeg 8 &1 39
Jedh P TTER SITTTY ok R 3T B & e fpar Smar g

. It is a feature in DNS server that is used to forward page requests for websites outside of that network. /

I8 ST TR H U fARAwar B ot ST 39 Jead & a18R B ds4rgel & forg gy SR o
SFIRA R & fo forar ST 8

It is a feature that allows a server to update and resolve IP addresses within a network /

ggwﬁgﬁw%@%aﬁﬁ%%%m@uﬁaﬁ@ﬁwﬁﬁwﬁﬁ
|

It is a feature that allows a server to act as a gateway between a local network and the internet. /



g TH UT TARITAT & S ok B RITG Aeadh 3R Se-c & §id 11ed & U H BRI & Pl STAfT
TR RI

Correct Answer :-

o Itis a feature in DNS server that is used to forward DNS queries for external DNS names to DNS servers

outside of that network. /

g SITeT IR A U faRvdr & et Suan a1 Sieud 71t & forw Sy &8 1 39
Acdd & STER SITTLY YR R AT B3 & fore fparsiar g

30) Which of the following commands prints the file-creation permissions using symbolic notation? /

ﬁqﬁﬂé@aﬁﬁaﬁqmmmﬁmﬁ%mmm“mmﬁﬁwmﬁﬁaﬁﬁz
FRAT 82

1. umask -S

2. umask

3. printfp

4. printfps
Correct Answer :-

e umask -S

31) Which of the following is a 4G mobile telecommunication standard that uses OFDMA and SC-
FDMA? /

Frafafaa o @ S 971 457 HiaRa AR A9 @ W UESITaT 3R TORil-ThETaT &1
IUYNT BT 82

1. UMTS / quadTq

2. GSM / SilgquH

3. CDMAOne / SISITHTAA
4. LTE /U@

Correct Answer :-

« LTE /T@cs

32) Which of the following is a technical standard developed by Microsoft, that specifies a Common
Type System (CTS), Common Language Specification (CLS) and Virtual Execution System (VES), so



that applications written in multiple high level languages can be executed in different system

environments? /

frafeafad & A F9 arsPaive gRT e Rid Te de-ie! A ¢, Sl Te 9TA <5y Red
érew), wrr=a vt fafkrear @) o agem widregem Rrew @isen) 91 fFAifde
HAT 8, A 3 I TR WIaTsii # ford 7w SrguaT firg-fir Riew Tarawde &

fPregTfea forg o ad»

1. Open Software Foundation (OSF) / 3T e ddR BT ST (m

2. Common Language Infrastructure (CLI) / B A RWRCKR @W 3‘|TQF)
3. Common Language Runtime (CLR) / ®THT 7ael 3718 (FTAIMR)

4. Common Standards Revision Group (CSRG) / HIAT WSS R qu @W &ﬂ?ﬁﬁ)

Correct Answer :-

o Common Language Infrastructure (CLI) / HIHT A RIPRCIR @Qﬂ 3‘|TE§)

33) Which of the following is a transitive rule? /
fFrafafaa 7 @ $19 a1 eiiifes @ed®) Fau g2

Xy, Yy zt Ex—oz

—_

N

Xy Exz oYz

w

ifx>y,thenx —y

N

x> yz Fx oy

Correct Answer :-

s X= Y, y=ziEX—z

34) Which of the following elements in HTMLS configures the text that is no longer relevant? /

Wsﬁmﬁﬁﬁquﬁ?wmﬁﬁﬁﬂwm%ﬁﬁmmqﬁ

1. <ir>
2. <irt>
3. <c>
4, <s>
Correct Answer :-

o <§>



35) Which of the following keeps state information about the use of I/O components? /
frafafeaa & @ o1 ord/3i gesl & ITIRT & IR | AR B THSRI @l 5?2
1. Shell /e

2. Kernel / Eb_"'(ﬂ

3. CPU /¥IUIg
4. Hardware / ‘51@%?1?

Correct Answer :-

e Kernel / B

36) Which of the following uses UDP and a logical connection to transfer files, and is used in
bootstrapping diskless workstations? /

fFrafafaa 7 S F19 g S1 U Hedr § 3R Breal & MR #341 & fore aiforea
AR BT ITART T 8, TIH e iU fEma g = A wanT far wirar 82

1. Network File System (NFS) / 7ead HT3d RieH (TIUHTY)
2. Trivial File Transfer Protocol (TFTP) / Eﬁ&ra PIELY m IEEIN (é Qtﬁélﬂ )
3. File Transfer Protocol (FTP) / B3 CIHR Wiclbldl (YWl

4. Dynamic Host Configuration Protocol (DHCP) / STOHITH® RE BRI Uleidbid (SITawl)

Correct Answer :-

e Trivial File Transfer Protocol (TFTP) / Eﬁ&lﬂ Higd E;Iﬂ'cb_{ melhla (?ﬂ'Q'qv_(ﬂ'd)f)

37) Which of the following uses Dijkstra's algorithm to construct routing table? /

TARTYT a1feresT a9 & forg Frafafaa d @ o fesower wax fafy o1 Suai swar g2
. Bring man / famam
. Link state / INER

. Path vector / UTY Jaex
4. Distance vector / &% daex

—_

N

w

Correct Answer :-

« Link state / foiep ¥




38) Which of the following is NOT a derived data type in C? /

fFrafafaa & & #1991 ¢ # s 3T yeR T8 82
1. Array / 3%

2. Structure / IR

3. Void /dIgS

. Pointer / @IgcX

N

Correct Answer :-

. Void /dI3S

39) Which of the following networks has the highest transmission speed? /
frafafea o @ 59 Aead & Smaw doror fa it 32

. Optical fiber / 3TPHT BIFER

2. Coaxial cable / THTENT Had

3. Electrical cable / ﬁﬂ:{lﬂm

. Twisted pair cable / rafad gqiH Hed

—

N

Correct Answer :-

« Optical fiber / SAMVHA BIIER

40) Which one of the following terms best describes the sequence of analysis, design, implementation
and testing of a product? /

fFrafafaa 7 @ $19 a1 o, T Iarg & fazayur, fEersa, JuUR iR tdevr & 3rrd o1 ]
3T qUI BT 82

. Debugging / ST

2. Product Development Cycle / 3T ATy dh

[

3. Maintenance / AXG[d

4. Flowchart / T

Correct Answer :-

« Product Development Cycle / 3G [deh Ty Tch




41) Which one of the following is not a real time operating system? /
frufafed # & o1 w1 faa ega sifrfén Rrea T8 82

1. VxWorks / anﬁ

2. Windows CE / ﬁ@ﬁ?ﬂﬂ%

3. Palm OS / UTH 3TY
4. Micrium pC/OS-TI, TIT /#TSTRaa uC/OS-IT, 111

Correct Answer :-

o Palm OS / UTH 3T

42) Risk management activities can be broadly divided into: /

e fRede (Sifeaw yedm) 3t afafaftel o e wu 3 sd o foar o wear s:
1. Risk transfer and risk avoidance / R @:Iﬂ'cb_{ 3R R goiF

2. Risk assessment and risk control / R 3Trar 3R R ez

3. Risk analysis and risk identification / s faawor ok fes S hhT

4, Risk resolution and risk monitoring / Rn ﬁ@?{qﬂ 3R e Afefar

Correct Answer :-

« Risk assessment and risk control / R¥H 3THa Gﬁ'\f s =T

43) The value that says that transactions in D which supports X, also support Y is called

g HTF SN 91T @ {6 D A a9e &l {6 X & IIU-I1Y Y B! Ul Hear g, 39

FET AT G|

1. support count / JUIé Brdc

2. support / e

3. confidence / HIHISH

4. none of the above / B'Clﬁaﬁ f[ @ ﬁ‘é =rz?r

Correct Answer :-

« confidence / BIBIST

44) The number of iterations in a priori ./



TS U § RIgRa ot S |

1. decreases with the increase in size of the data / S & HTHR H aa?r & 1Y ed! %

2. increases with the size of the data / ST P HTBR & ITY aa‘cﬁ %

3. increases with the size of the maximum frequent set / HfeHdH Gﬂq%l A< & MHR & Y aa—cﬁ %

4. decreases with increase in size of the maximum frequent set / 3{UHIH Gﬂ@ﬁf JT b DR H dgA b
Y gl 8

Correct Answer :-

« increases with the size of the maximum frequent set / HfmaH 3ﬂ§ﬁ'[ YT & PR & 1Y Ela?ﬁ %

45) The process of changing a non-pixel based image into a digital-based image is called .

R-Ude senfya ofd 7 fSRrea-snuRa sl A sgam Flufbar® werwmargl
1. Raster /X%

2. 1P /Tog

3. Scale / Whdl

4. Render / 38X

Correct Answer :-

e Raster/ w

46) The process of converting data into various specialized formats to be used on a different device

or a system for various other information processing needs is called ./

faftra o JamiT yeRa T Smaxgdarsi & forg fedt fira Suwwor a1 Ried w Suai fog s
ara fafts fasiy yreeul o Ser o1 ufvafda w3 @t ufka ot FET AT 3|

. Obfuscation / 3TEHIBIA

. Encoding / JdaH (ZAPITST)

. Hashing / GaT-aN0T (§1R17)

. Encryption / @@ (ShRM)

Correct Answer :-

 Encoding / Hapad (371@'%"[)

[y

N

w

D

47)



The TCP/IP utility that records the gateway computers at each hop through the internet between a
computer and a specified destination, and also provides the amount of time between each hop is
called ./

R/ egdt STfRTaT S ue dugeR ok tw [Aféy ider & dH Sevnie & urenH | U g1
gvﬂﬁmaﬁm%aﬁ?mﬁq%aﬂawaﬁwﬁmmi Fgardt
|

[

ipconfig / ATSUIBIANBIT
arp / G3RUT

3. tracert / CHC

. ping / T

N

N

Correct Answer :-

e tracert / aqé

48) The is a technology for constructing integrated circuits which is used in
microprocessors, microcontrollers, static RAM and other digital logic circuits. /

UPIpd URUY §9F & 1T Ue de-e ¢ Foraet Sy geu whHe, ged e,
Wifas 3 3R 3= feforea aifbe ulivuyt & frar smar 21

1. DMOS / SITHTH
2. CMOS / SiTH3NTH
. PMOS / UiTH3MTH

. NMOS / TTTH3NTH

w

N

Correct Answer :-

« CMOS / SiuHsTy

49) In the 8085 microprocessor, which of the following is NOT a maskable interrupt? /
8085 WS IUIGER H, FrfifEd @ w17 91 & yoTe-ia siiavra 7181 82

1. TRAP / Cl3fRUdl

2. INTR / STSTACIR

3. RST 7.5 / 3IRTHC 7.5

4. RST 6.5 / 3RTHST 6.5

Correct Answer :-



« TRAP / ¢I3Rudt

50) In the STATE field of Netstat output, which of the following indicates that a connection is open

and active? /

ﬁ&ﬁzfzam;gz%éz &= ¥, Frafafeaa & & o9 a1 9a g5 §Ra ovar 8 6 sae=m gan
afea g2

1. ESTABLISHED
2. SYN_SEND
3. TIME_WAIT
4. LISTENING

Correct Answer :-

« SYN_SEND

51) A computer uses 32-bit byte addressing. The computer uses a 2-way associative cache with a
capacity of 32 KB. Each cache block contains 16 bytes. Calculate the number of bits in the TAG,

SET, and OFFSET fields of a main memory address. /

TP S 32-f3e a1ge TSR ST U a1 8 | $WER 32 KB P &HdT & 1Y 2-3 Wafia
P BT YU HIAT1 8 | TP S 1P A 16 915¢ 31 8 | T AR TS A TAG, SET 3R
OFFSET Wits H fae &1 I&Im &1 AT siferg|

1. 18-8-6
2. 18-10-4
3. 10-18-4
4. 14-8-10
Correct Answer :-

e 18-10-4

52) During connection establishment phase in TCP, which of the following is vulnerable to serious

security problem? /

%ﬂﬁtﬂﬁﬁﬁmwwaﬁmﬁ?ﬁ-@aﬁﬁaﬁqmmﬂ?ﬁv&nm%ﬁmﬂm
1. URG flooding attack / ZLLGlRTrﬁ TS 31ch

2. SYN flooding attack / THATSUA URAIST 3



3. ACK flooding attack / Q@a? TAET 31eh
4, FIN flooding attack / Wéﬂé@ TAIfST 3ich

Correct Answer :-

« SYN flooding attack / THATSTT TS 31cch

53) In a network with 75 computers, a mesh topology would require cables. /

75 HER aTel TP Acad H, T oTd Fiteufd (AR eitare) & e Hacq &1 smaxasddn
it

1. 5550

2. 1208

3. 2775

4. 75

Correct Answer :-

e 2775

54) In Windows registry, which of the following is a registry hive subtree that stores configuration

data for the current hardware profile? /

faete Aot o, Fraforfaa ¥ @ o914 te IR 3139 9adl 8, ol aduH sredur Niwsd & fae
BIPTRTIA ST ATEId Bl 82

1. HKEY CURRENT USER
2. HKEY_ CURRENT_CONFIG
3. HKEY LOCAL MACHINE
4, HKEY_CLASSES ROOT

Correct Answer :-

« HKEY CURRENT CONFIG

55) Which of the following is not a part of GSM architecture? /

frafafea & @ 919 91 GsMm sifdear o1 fevar =81 82
1. Base station sub system / ERESSRRURCIN|
2. Network switching sub system / Jeqd RafiT 3 yome



3. Mobile station / ﬁlaTga WY
4. Router /I3

Correct Answer :-

e Router /[3CX

56) The channel which is not a part of CMDA forward channel is: /
9 SIf CMDA 3 39 BT HRTEI 8, B

. Pilot channel / I9dc EE|

Sync channel / R ot

Access channel / Qﬂ@g %:Iﬁ

. Paging channel / BICHSE]

—

g

w

N

Correct Answer :-

e Access channel / Qﬂ@g EE|

57) How many hosts can be on a class C network? /
TN C Acad W fraa Nivs @Re) 8 9oa &2
1. 254

2. 64

3. 128

4. 256

Correct Answer :-

e 254

58) A is a collection of key-value pairs where indexing is done via arbitrary keys of any

object type and need not be an integer index. /

_ Pol-U g &1 IUE §id1 ¢ Wei fhil Sifesiae U R @1 Sifrifaa a1 ueuehia ot
gggwﬁm@mmm%ﬁwwmaﬁﬁwﬁ
|

1. Array /@
2. Range /35



3. Set/ e
4. Hash /%QT

Correct Answer :-

. Hash/%m

59) Consider the following function. What value is returned as a result of the call f ()? /

frrafafEd v &R faaR &% 1 &1 £ () & TRUTHE=Y o1 {19 9799 gidT 82

int f ()
{

int k, result;
result = 0;
for (k=0; k<10; k++)
{ f((k%5)=1)
result = result + k;
else
result = result + 2;

}

return result;

}
122

2. 21
3. 23
4. 20

Correct Answer :-

e 23

60) A processor refers to 5 pages A, B, C, D and E in the following order:

A;B;C;D;A;B;E;A;B;C;D;sE.

If the page replacement algorithm is FIFO, then the number of page transfer with an empty internal
store of 3 frames is:

T TR, fRaferfad 8 # 5 Usif A,B,C,D 3R E & Yefifd sxar 2|
A;B;C;D;A;B;E;A;B;C;D;E.
uﬁﬁﬁw%ﬁmmwﬁﬁmmo%,a}sw%wwmwﬁ%wumﬁﬁ
1 HET 8:

1. 10



2. 8

3.7

Correct Answer :-

«9

61) The block in a file system which contains the control information about individual files is: /
wIgd ey d wie, forad safdaTd wisal & ar | e SeRt fAfrd gidt 3, A=
1. ifiles block / SIS Sih

2. super block / JUX CSIcg

3. data block / ST SAlh

4. inodes / 3@"9
Correct Answer :-

e inodes / 3@?

62) A simple sorting algorithm that repeatedly steps through the list to be sorted comparing each
pair of adjacent items and swapping them if they are in the wrong order is called the .

TSP AIYRY FeT8 o [Af (FiTeT TaEnien) ot pHds F31 & e Tt & ey § IR-IR
B HA! 8, AT TXG3HT F TP WA DI a1 B! 8 3N 3R d Ted HH § ¢ df 32
g et Fgard gl

1. Bubble sort / 9 BIc (¥ Hic)

. Quick sort /'g_cfw (m%

3. Selection sort / T BiC (YcTa=H ﬂ%
4. Insertion sort / BRG] (ET\EFQﬁ ?l'\l%)

N

Correct Answer :-

« Bubble sort / I Bic (F9d TIC)

63) In JavaScript ”== =" operator defines what? /

WAIfEpE § »= = = ATINeY T URYING HId1 82



1. Non-identical / SHHH %

N

. Is identical (is equal to and is of the different type) / FHHIT g (SRTSR 8 3R 33T YHR &I %)

. Is identical (is equal to and is of the same type) / THIH % (SRTR % 3R H yHR B %)

w

. Is equalto/%W%

N

Correct Answer :-

o Is identical (is equal to and is of the same type) / HHIT % (SRTR % 3R IH yHR BT %)

64) What category of web-based system would you assign to electronic shopping? /
AT WRIGeR! & Y oMy i geR 3 da-snurivd gomredt srdfed &2
1. Transaction-oriented /@Ff-a:f-ﬁ_'ﬁ@

2. Informational / JIITHD

3. Interactive / HdTGI&P

4. Workflow-oriented / WIE—B’EL@

Correct Answer :-

« Transaction-oriented /@Ff-a:f-ﬁ_'ﬁ@

65) The schema of table is an example of /

T QT 1 GISfT (FhIHT) BT TP IGTEX0 &:
1. Relationship / H&T

2. Entity / 3013

. Atomicity / QSR

. Metadata / HeTSICT

w

N

Correct Answer :-

. Metadata/fla SICl

66) Which of the following statements is INCORRECT regarding cache memory? /
fraffed & @ o1 91 $y= S 798 & 69U | 3/ 72

1. The processor must explicitly know about the existence of the cache. /

IRIRR 1 BT b K b aR H WY FY Y Ul g1 <1fe V|



2. L1 cache is faster than the L2 cache. /

T 1Y, TA2 U I A gl

3. The correspondence between the main memory blocks and those in the cache is specified by a mapping
function. /

T AR e 3R B2 & da rorg Aftht wad gr1 Ay fasar Srar g |

4. The purpose of the cache is to make the main memory appear to the processor to be much faster than it
actually is. /

P BT I G-I NN D) UebHer H D! aRAdwar J 31 as Udfid HRarr |

Correct Answer :-

 The processor must explicitly know about the existence of the cache. /

TR & $ & AT P IR T WY Y Y UdT g1 18T

67) In which type of cache hit, the main memory is not involved? /

e e & B2 fae §, g7 AUt e 18 82
1. Correct hit / dde fge

. Write hit / IS¢ fge

3. Read hit /3 fge

. Direct hit / SR fge

N

N

Correct Answer :-

« Read hit /1S fge

68) What is the output of this program? /
9 WIITH &7 313y F13?

class Example2

{
public static void main(String args|[])
{
boolean a = true;
boolean b = !true;
boolean ¢ =a | b;
booleand =a & b;
booleane=d ? b : c;
System.out.println(d + " " + e);
}



1. false true

2. true true

3. true false

. false false

i

Correct Answer :-

o false true

69) What is the approximate address space generated by a 32 bit address? /
32 fae 039 g1 ST SrgTia Tew faa R 7T 82

1. 8 GB /8 it

2. 4GB/ 4Sitet

3. 4 MB /4 THS
4. 2 GB /2 Sfielt

Correct Answer :-

« 4GB/ 4SHdr

70) Choose the equivalent prefix form of the following expression: (x + (y — z))* ((m — n)/(o + p — q))
/

e arfireafaa &1 o geu Iuwt &9 gia: (x + (y - 2))* (m - n)/(o + p — q))
1. *+x/-yz -mn -+opq

2. +*x-yz /-mn -+opq

3. *+x-yz /-mn +o0-pq

4. *+x-yz /-mn -+opq

Correct Answer :-

e *+x-yz /-mn -+opq

71) Which model shows the flow of object interactions? /
S AT HISd Sieoiae FeYaRM $1 yarg fe@ran g2
1. Both Sequence and Dynamic model / 3{JhH 3R fasha Aisd gl



2. Dynamic model /7 fo=fia Ated
3. Subsystem model / TERICH AlSA
4. Sequence model / 3JHH ared

Correct Answer :-

 Sequence model / 3JhH Hisd

72) For the given Hex String 'FA6BDC', which of the following is correct little endian format? /
fau e 39 &1 'FA6BDC' & forg, fFufafaa A @ #19 o1 98 fafea tfea e 32

1. FA6BDCO00

2. DCOOFA6B

3. CDB6AF

4. 00ODC6BFA

Correct Answer :-

« DCOOFA6B

73) The command which will check if the string begins with “Are” is: /

FHS o oig Bl b afe KT vAre” A 3= g1t 8 o 9&Y:

1. [[ $string == ‘Are*’ ]]
2. [[ $string == ‘*Are*’ ]]
3. [[ $string == "Are*" ]]

4, [[ $string == Are* ]]

Correct Answer :-

o [[ $string == Are* ]]

74) is not a relational algebraic operation that is not from the set theory. /
TP YRS SrerTioRdt |fsear 181 § ot 9wy R 9 78 31

1. Intersection / Wqﬁw

2. Cartesian product / BT 04

3. Select/ Tdlde



4. Union /99

Correct Answer :-

o Select /W

75) is the state of transaction when the normal execution of the transaction cannot

proceed. /
91 o) 98 fRIfa 8 919 a9 o1 Iy frare S A8 9¢ gadan gl
1. Aborted / JHIUA

2. Failed / 3T

3. Inactive / ISRy

. Terminated / eI

N

Correct Answer :-

e Failed / B A

76) is not a data manipulation language statement. /
U ST UHAT YN HY (ST AYARF daw Rede) 781 g1
. Delete /%Fﬂ?f

2. Commit / CatErel

. Update / ST

. Insert / sﬂ_cp

Correct Answer :-

e Commit / FHite

[y

w

N

77) If all passwords consisting 7 characters are chosen at a random from 95 printable ASCII

characters, then the search space would be ./

Tfe 95 geufta Ascin 3iert A arefde 0 @ Tt vraad ardt 7 &R &1 41 oirar 8, df Wi
R ghmi



4 2795

Correct Answer :-

° 9

LA

78) If all the columns in a table describe and depend upon primary Key, then the table is said to
satisfy .

gfe ue aiferst & gaft T, mrufire $oft W qui #ea § ok 39 W Ak = €, at arferet
Y Agy A B

1. 2NF /2 TAU%H
2. 3NF /3 UqU
3. 4NF /4 UU
4. 1 NF /1 UU

Correct Answer :-

e 3NF /3 UAU®m

79) In SQL selection is achieved by: /

TIRUA N T gRTgid fear S 21
1. SELECT ... WHERE... FROM

2. SELECT ...FROM ... WHERE

3. PROJECT ... WHERE

4. PROJECT ... FROM

Correct Answer :-

e SELECT ...FROM ... WHERE

80) If time taken to transfer a file from a hard disk is 100 seconds and the rotation speed and the
average seek time of the disk are 6000 rpm and S ms respectively, then what is the total average
access time? /

Ife gTE f3P A U BIgd &) WM &1 & forg forar ar 993, 100 A0S ¢ 3R afe few
1 gofq 7fay 3R efraa Wi T7T HH: 6000 RATH 3R 5 THEH B ) oo Nwa s
YUY (THAY TI5H) T 82

1. 102.10 sec / 102.10 BTG



2. 100.01 sec / 100.01 YHUS
3. 101.10 sec / 101.10 IHUS
4. 100.10 sec / 100.10 YHUS

Correct Answer :-

« 100.01 sec / 100.01 YHTS

81) The network topology which uses one main cable to which all nodes are directly connected is

called v

ﬁﬁ&ﬂ%@rﬁﬁwg@mmwm%mﬁmﬂﬁswﬂﬁmsﬁﬁ_
Heardi gl

. Ring topology / o wifufa
. Star topology / ¥R Tifeufa

—_

N

w

. Bus topology / &9 gifeufa
. Mesh topology / Ty Tiff

N

Correct Answer :-

 Bus topology / I gifeufa

82) Which of the following uses FIFO method? /

Frafafaa & @ o1 wiet faft &1 3ugi srar g2
. Queues / FH

. Linked lists / foiorg fereeq

. Hash Tables / 521 ¢oed

. Stacks / T

—

N

w

N

Correct Answer :-

» Queues / R[H

83) In java language, public void paint(Graphics g) method is in
class /

Sirar M1 ¥, ufies atas de anfeay g) fafdr A T gl

1. java.awt.Component class / java.awt.Component el




2. java.awt.Applet class / java.awt. Applet &Il
3. java.applet.Applet class / java.applet. Applet ST
4, java.applet.Component class / java.applet.Component &Il

Correct Answer :-

e java.awt.Component class / java.awt.Component Gl

84) In JDBC, --------mmmmmmmemees interface provides methods to manage transaction. /

B ]>]: Tok - ARR—— 3ehd AR Wi #31 F fore faftrt Tar 21
1. Commit / HHC

2. Prepare Call/ WU Bid

3. Rollback / JddH

4, Connection / HAH

Correct Answer :-

« Connection / HGRH

85) If A =1 and B = 0, then find values for A AND B, A OR B, A NAND B, A NOR B./
gfe A=1 3R B=0, a1 A AND B, A OR B, A NAND B, A NOR B & for€ 619 31a@ #31
1. 0,1,0,1

2.0,1,1,0

3.1,0,1,0

4.1,0,0, 1

Correct Answer :-

«0,1,1,0

86) Consider the following pseudocode that uses a stack of characters. Analyze and find the

functionality of the code: /

g TgEipis IR faR &¥ o) F¥aed & R T waNT Ha1 g1 fazayu #ifre ik wis ot
FTATHB AT JTd PIOC:

declare a stack of characters



while ( more characters in the word to be read )

{

input a character
push the character on the stack of characters

}
while ( the stack is not empty )

{
pop a character off the stack

write the character on to the monitor

}

1. Reads string and writes reversed string on to the monitor / I@;‘l Cal UedI g IR AR ™ W&R‘f
3! foraarg

2. Reads characters and writes to stack again / PHFeR| DI Yedl % 3R TERT ¥ TR foraar %
3. Reads and writes string twice on to the monitor / A W) @A‘ Ca a dR Uedl 3R fergar %
4. Reads and writes string/word on to the monitor / H MR WR I%\’ ISEACA Uedl 3R feraar g

Correct Answer :-

 Reads string and writes reversed string on to the monitor / I@HI DI UGl g AR AR R W&Iﬁ
o feraar g

87) How is plan driven development different from agile development? /
e waTferd faer, dia faer & foa yoR e 82

1. Project activities are decided through a process of negotiation during the software development process. /

AR faemrg ufshar & R a1di ot ufehar & Aread ¥ uRaeHT Tfafafirt o1 fHofg ferar srar g

2. Iteration occurs within activities. /

aRad= TfafafEl & HiaR giar |

3. Specification, design, implementation and testing are interleaved. /

fafRmyan, fEomsa, wrafaam ok wiem siq.ufd Eexferes) g

4. Only essential work products are produced. /

P 3MTIH B IATG IR fhT 51d §

Correct Answer :-

e Iteration occurs within activities. /

aRad= TfafafEl & HiaR giar |

88) Pick the correct definition for Information Security. /

AT YR&T & fore Wt ufvumar &1 a9 S



1. The practice of preventing authorized access, use, disclosure, disruption, modification, inspection,
recording or destruction of information. /

AP R, SUTNT, UHIHRUT, AT, TRNeH, FETeror, Jem &t Repite ot fa=mer e &1
Eap|

2. The practice of preventing unauthorized access, use, disclosure, disruption, modification, inspection
of public data. /

SR SR, SUANT, T 1hR0I, HAYM, TRNYH, Tao—e Scl &I FHRIE A &1 B

3. The practice of preventing unauthorized access, use, disclosure, disruption, modification, inspection,
recording or destruction of information. /

SAIHT ST (SFSHTURISTS TROH), SUTNT, U 1hRul, aYT, TRNeH, Ftermr, gemr o
Repifa ar fa=mer A &1 Hrd

4. The practice of reviewing access, use, disclosure, disruption, modification, inspection, recording or
destruction of information. /

SIFARTHA, SUANT, Uhe T, U, T=ed, e, e &t Repifar a1 fa=m=r &1 geten e
BT B

Correct Answer :-

» The practice of preventing unauthorized access, use, disclosure, disruption, modification, inspection,
recording or destruction of information. /

SATIHA SRTHT (3F3HRRIZSS TRH), YA, UHCIHRUl, TTUM, I-MeH, FRIE01, Fa-T o
it ot fammer A &1 Bk

89) Which of the following numbers has an exact finite representation in binary notation? /

?wﬂﬁm(mﬁﬂﬁé&ﬁ)ﬁﬁyﬁf@mﬁﬁmﬁweﬁmﬁ%mm
?

1. 04
2. 0.25
3. 0.1

4, 0.2

Correct Answer :-

e 0.25

90) When two threads access a shared variable at the same time and the outcome of the execution
depends on the particular order in which each thread completes its processing is called



W9 & ¥S, TP & THY H Toh AT TR BT SUART B4 ¢ 3R Freare= &1 ufkomd 39 faRiv oo
WR 1R BT @ R Ul d 3T TRIRPRU1 B R BT §, Hear g

1. critical condition / W?{Q'IT (@'ﬂ%ﬁ m:f)

2. essential condition / STILIH TN (THRTAT HS 1)
3. dynamic condition / TTARITel SR (SRHTHD HelM)
4. race condition / YTd GQRIT (%QT EI'TSOF-‘IFD

Correct Answer :-

« race condition / YTd qRIT (W EI'TSOF-‘IFD

91) The network device that is used to regenerate or replicate signals that are weakened or distorted
by transmission over long distances and through areas with high levels of electromagnetic

interference is .

Aead fEarsy et ST ddt gt IR TER0T gRT U a1 fagd Hadhdi &) gH: I B
;W?WMW%@?WWW&W%WW@MQEmWQW
. BI

1. Router /I3

2. Bridge / @@
3. Modem / HisH

4. Repeater / RIAAD
Correct Answer :-

e Repeater / EFR'IW

92) The flushing during caching at the time of database recovery is controlled by and
bits. /

2o et & 7Y IR HRAT F SR Wil MR fae & gr fifaa foran
cIGI]

1. force-unforce, pin-unpin / qﬁﬁ—\’fﬁﬂ'ﬁﬁ, U3t

2. appended, force-unforce / Gfa%_s', BRI- 3B R

3. modified, pin-unpin / T (J:I'\Iﬂ%'th—lg?:), U3t
4. modified, dirty / TN (ATSHIZS), Sf

Correct Answer :-




« modified, pin-unpin / FNIT @ATSHIZS), fUH-3ATH

93) The protocol jointly developed by Mastercard and VISA for secure financial transactions, which
uses standard Digital Certificates like X.509 Certificate is called ./

Rz faxfta 99 & e aRer®1E 3R 91T gRT Wgea ©u A fasRia wiedtsra, s ae
fSforea aféfrdea 99 X.509 Aféfhde BT I FHear 8, A FEd Bl

1. Secure Electronic Transaction (SET) / R sﬁaﬁﬁ@ E:laa;‘zl:f (Qﬂéé )

2. Transmission Control Protocol/Internet Protocol (TCP/IP) / ‘gmﬁm:[ ﬁ,\?{ Uleidbid/gex-c Uieidbia
(&t s
3. Hypertext Transfer Protocol Secure (HTTP-S) / E’I%'CR%ER‘E E;Iﬂ'tb_{ PICICAIGATECI Ry (Q?«Ié ¢ EN-QF)

4. File Transfer Protocol (FTP) / ToISd W Ueipbid (ch_cprdT)

Correct Answer :-

« Secure Electronic Transaction (SET) / R ‘s’éaeﬁl?ﬁ gfaw:f (Qﬂéé )

94) The set of media access control (MAC) and physical layer (PHY) specifications for
implementing wireless local area network (WLAN) computer communication in the 900 MHz and

2.4,3.6,5, and 60 GHz frequency bands is: /

900 T8 3R 2.4, 3.6, 5, 3NX 60 TNMEeH Mgf 95 # IRAN dida Thar Aeadh
(STAYT) HFHER IR S AN FA & g Hifyar gade s (Tage) ok ifds wxa
(freears) fafe=i @ wy=ra

1. 802.11 ac

2. 802.11n

3. 802.11 bgn
4. IEEE 802.11

Correct Answer :-

o IEEE 802.11

95) Which of the following utility is an efficient alternative for -exec in find command ? /
Frafafae & @ o1 B Suaifiar, Fais 319 F & AT -exec 39 T F3@ faweu 32

1. glob

2. -inum

3. -print



4. xargs

Correct Answer :-

e Xxargs

96) Which of the following status codes does a Web API send on successful execution? /
fFafafea & A $19 91 Reg Fis, Ird AwreT 1R W1 741 U6 39 Thters 82

1. 201

2. 500

3. 200

4. 404

Correct Answer :-

« 200

97) Select the approach of encryption used in Vigenere cipher method. /

o argw= faft ¥ ygaa geawd (Uf~rwr) & @i &1 9aq #¥)

1. Encrypting alphabetic text by substituting cipher in which each letter in the plaintext is shifted a certain
number of places down the alphabet /

TSR B! YR x> JUTHTS UT6 DI FHreaia BT forTH 161 016 | U 31&R oI quraTa
& =i R BT U Ffdd e & wiHaRd fasar s g

2. Encrypting alphabetic text by using a series of interwoven Caesar ciphers, based on the letters of a

keyword /

Tl Tohasres & 31&RI & YR TR Sexdia- HoR WISHR &1 Udh YRIAT BT IGANT B JuiHTal
U1 &1 § BTl

3. Encrypting alphabetic text by manual symmetric encryption technique and was the first literal diagram
substitution /

T3S AT Heaa ddb-1db gRT JUMHTAT UTS B He HRAT 3R I8 TUH AMead 3RW Ui
|

4, Encrypting alphabetic text polygraphic substitution cipher based on linear algebra /

e SISO & YR UR GUMHTAT UTS UieiTithds UfoRITI- QISR HeaaH (UfhY) BT

Correct Answer :-



« Encrypting alphabetic text by using a series of interwoven Caesar ciphers, based on the letters of a

keyword /

Tl Tohasres & 31&RI & YR TR Sexdia- HoR WISHR &1 Udh YRIAT BT ITANT Hdh JuiHTal
U1 &1 § HATl

98) SHA variants in the SHA-2 hash function family are: /
THUE-2 89 R URaR # THEET UPK §:

1. SHA-128, SHA-224, SHA-256, and SHA-320 / THUTU-128, THUTU-224, THUTL-256, 3R
THUTT-320

2. SHA-128, SHA-64, SHA-32, and SHA-320 / THUHU-128, THUTU-64, THUTN -32, 3R THUAL-320

3. SHA-224, SHA-288, SHA-416, and SHA-512 / THUU-224, THUTU-288, UHUU-416, AR
Uqudu-512

4. SHA-224, SHA-256, SHA-384, and SHA-512 / UHUTU -224, THUHU -256, THUHU -384, 3R Uqu<u
-512

Correct Answer :-

o SHA-224, SHA-256, SHA-384, and SHA-512 / UHUU -224, THUCU -256, THUU -384, 3R Tqu<u
-512

99) Consider the following game tree and apply ‘mini-max algorthm’ to find the next move from

max plaver such that max plaver will win_ /

TrfefEd 8a g8 W R &Y 3R Aoy [East & 30w Fed & 1 A7 St
& fov o & @ St e, Aerdew saa B sgega w1

Max ]
Min o ]
Max ¢ L ’ . ] [)
Min ¢ -1 -] ¢ o0 & o (- - o o [

4BRIERAREBERZRRARELEERRIZMEEBEBE BRI
1. Any node left or right from the root/'ﬂaﬁﬁg lﬁ%amtnam

2. Min-max connect be applied to this game tree / - Ae Fde, 39 WA d& R YYdd forar ST
ELNY



3. Right node from the root only / &Had od SALEIS
4. Left node from the root only / &Had Ilj'f@f CILEIS

Correct Answer :-

e Left node from the root only / $ad Hel BB

100)

Which of the following error codes represent the following:

= Authentication was provided, but the authenticated user is not permitted to perform the requested operation.
=3 The operation is forbidden to all users. /

Prrfafed # @ #i7 ¥ 3R B B o v e

S TETONGROT ST R T o, AftheT SIS TR B R ORI ST i AT
el &l

3 oRemereT T IqEAT & afaata

. HTTP 501 / TacIeIUl 501

. HTTP 404 / TACICIU! 404

. HTTP 500 / TacIcUt 500

. HTTP 403 / TacIcIUT 403

Correct Answer :-

« HTTP 403 / Tl 403
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